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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 517 7.1 2.6 15 47.2 100
2 194 16.3 3.9 25 65.2 37.5
3 280 15 4.2 25 60 54.2
4 43 16.7 3.5 25 66.8 8.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE GEOLOGY GL5 


SUMMER 2016 MARK SCHEME 


Theme 1 – Quaternary Geology 


Section A 


1. (c) (iii) Active layer in permafrost caused by melting near surface - sediment 
loses cohesion and moves downhill, large solifluction lobe 


Could be unrelated to periglacial conditions tension cracks show 
unstable ground, backward tilting blocks show movement on steep 
slope.  Could be related to deglaciation – lack of support for valley 
side or it happened before most recent glaciation 


Holistic mark 












Q1 Use Figure 1d



Sticky Note

This candidate does make a judgement about the likelihood of the landslide but doesn't fully understand the nature of permafrost conditions and tries to relate the answer to the modern stream features shown on the map.












Q1



Sticky Note

This candidate confuses the permafrost conditions with the modern streams in this location.












Q1



Sticky Note

A very good answer that uses different aspects of the data provided to make a judgment about the formation of the landscape feature.
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Figure 1d is a map of the landforms at Craig Cerrig-gleisiad in Figure 1a.
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Figure 1d
Q1 (c) Use Figure 1d.


(iii)	 “The landslide (L) may have formed during periglacial conditions.”
Evaluate this interpretation.	 [3]
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Section B 


3. (a) Explain the changes that occur in sea level in response to changes in the 
amount of continental ice. 


Isostatic changes in response to mass of ice locally on the continents, 
displacing the mantle  
Eustatic changes in response to changing volumes of continental ice and 
seawater during glacial/interglacial cycles 
Superimposition of the two cycles of sea level change (and their differing 
rates) which create the landforms and evidence seen today (rias, fjords, 
raised beaches, submerged forests etc) 


(b) Evaluate the use of radiocarbon (14C) dating in establishing a timescale for 
sea level changes. 


Timescale provided by dating ONLY organic material by 14C dating  
Small quantities of radioactive 14C incorporated into living organisms from 
atmosphere  
Dates wood in submerged forests or carbonate in shells from raised beaches 
Accurate dates 
Decays over time / short half-life of 5730 years  
Problems of short period of time that can be accurately dated (40-60,000 
years BP)  
Problems of contamination & variation in production rates of 14C 
Could use other techniques such as Zone fossils within Quaternary for 
relative dating and correlation 


Must evaluate for access to full marks 


Theme 1 – Quaternary Geology 
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SUMMER 2016 MARK SCHEME 












Sticky Note

This candidate has limted knowledge of the processes of sea level change beyond the superficial.







Sticky Note

The explanation offered for isostatic sea level change is again limited by a lack ofunderstanding of the processes that cause the change. the candidate is aware that pressure from the ice causes isostatic change but the mantle processes, the role of the mass of the ice sheet and the differing effects of isostasy in different locations are all absent.



Sticky Note

The answer does provide a point of evaluation over the timescale limitation of radiocarbon dating 



Sticky Note

The answer begins to diverge from the question that was asked in that there is very little reference to the application of the dating technique to sea level change.







Sticky Note

The answer to part (b) is rather hit and miss with a great deal of the content only addressing the question by inference.



Sticky Note

The essay overall is 'minimal' with the inclusion of some limited evaluation it pushes the mark up to the top of the mark band for this category.












Sticky Note

This section of the essay shows quite good knowledge of both isostatic and eustatic sea level changes.  However it lacks a detailed explanation of the processes.







Sticky Note

There is an attempt to evaluate the use of radiocarbon dating but it isn't backed up with much supporting evidence.



Sticky Note

The candidate does make a good point about oxygen isotopes but fails to relate that directly to the question asked.



Sticky Note

The answer here misses the point about how dating techniques are employed to provide a timescale for geological events.



Sticky Note

Overall this candidate shows a reasonably secure grasp of the basics but there are some deficiencies in knowledge with little effective evaluation therefore this essay was placed in the middle of the 'quite good' mark band.












Sticky Note

A good grasp of the basics of the processes of sea level change that would benefit from a more detailed explanation of the mechanism.



Sticky Note

Some discussion of the combined effects of isostatic and eustatic change would have enhanced the answer.







Sticky Note

This part of section (b) fails to engage with the thrust of the question in a Quaternary geology context.



Sticky Note

The candidate shows a good grasp of the basics of dating sea level change.







Sticky Note

Some deficiencies in the organisation of the writing.



Sticky Note

Some effective evaluation of the technique of radiocarbon dating.



Sticky Note

A reasonably secure grasp of the basics, but this answer shows some slight deficiencies.  There is some limited evaluation therefore this answer is at the top of the 'quite good' mark band.
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SECTION B


Answer one question only.


Write your answer in the remaining pages of this booklet.


3. (a)	 Explain the changes that occur in sea level in response to changes in the amount of
continental ice.


(b)	 Evaluate the use of radiocarbon (14C) dating in establishing a timescale for sea level 
changes.


[25]
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